A £ 0l & AF & S

Al A

SA: ABIZXID
33 M55 sADIE =4
chelr VD Z=MEEH HEZo U 2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Arel S X110t 82,005,473 76,122,587 5,932,886
= 48,820,204
[ 2,219,989
= 7,563,323
Ea 23,461,957
MNASSE SXJ|g &4 9,860,790 10,248,480 N387,690
= 7,590,081
[ 149,154
= 905,508
= 1,216,047
=D =2 M2 W =2 9,794,471 10,184,708 A390,237
= 7,590,081
= 118,032
= 899,283
o 1,187,075
28=A 236,600 245,400 8,800
= 189,280
= 23,660
[Ea 23,660
301 LEtE N = 236,600 245,400 /8,800
= 189,280
S 23,660
= 23,660
01 ARIE2EHSFS(RRNEERTHE) 236,600 245,400 28,800
O2E=AIXE 946,400 250 236,600
= 189,280
= 23,660
2 23,660
22, NARSHE L ZANBLHSY(HBIE 2,047,213 1,960,877 8.3%
)
= 1,666,570
< 166,657
= 213,986
301 EtE NS 311,613 260,877 50,736
= 266,570
== 26,657
o 18,386
14 JIEt2 8= 311,613 260,877 50,736
OX22XNANS (SHHE22)
1,731, 183@*x15E«12& 311,613
= 266,570
== 26,657
o 18,386




SA: ABIZXID
33 M55 sADIE =4
chelr VD Z=MEEH HEZo U 2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 1,735,600 1,700,000 35,600
= 1,400,000
== 140,000
[Ea 195,600
11 AMEISXAEEES 1,735,600 1,700,000 35,600
OXNEZ2EXNAMS (XS XELHHE2Z)
1,735,600,0002 104 24 1,735,600
= 1,400,000
< 140,000
2 195,600
NE22, NASHE L BANSHESY(WESY 374,872 33,852 11,020
bl)
= 262,412
o 112,460
307 el2tol & 374,872 363,852 11,020
= 262,412
o 112,460
10 AlRISXAIZEHE 22X 374,872 363,852 11,020
OXAREHE 2%
374,872,000& *10H 2~ 374,872
= 262,412
[Ea 112,460
NS THEHE SAEE M2HA 12,840 12,600 240
= 3,852
= 8,988
301 EtE N = 12,840 12,600 240
= 3,852
[Ea 8,988
03 A2 H A0S (XILTHH) 12,840 12,600 240
OXNS 2B SALA S8
133, 7502 x8& * 12 12,840
== 3,852
[Ea 8,988
AL XelAr oA Atell2el 33,742 31,476 2,266
= 11,110
== 5,361
o 17,271
307 212+01& 33,742 31,476 2,266
= 11,110
= 5,361
o 17,2171
1 AMISXAIEEX 33,742 31,476 2,266
ORtEARCIAY ZOXE Atdil2tel (=HI)
2,978,500« 1E 62 17,871




SA: ABIZXID
M HASE =XDIE =4
oSl RWIIZMEPE MY LA 2 (crel: g)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 5,361
2 2,510
OR-ZUR2IAY FOIX ARIZEI(2H)
2,645,166 x 15«63 15,871
= 11,110
[ 4,761
22Uz A2 X3 91,645 141,143 A49,498
= 73,317
= 18,328
307 212+01 A 91,645 141,143 A49,498
= 73,317
= 18,328
05 QIZtRIEr S 91,645 141,143 A49,498
O3S M=H FH 277, 4162 x38« 12& 9,987
= 7,990
= 1,997
O3|YMFHE2 101,416 *3F + 122 3,651
= 2,921
2 730
OBELHENIHXIAS! 0I5HR, ZDX)
185,7302 x35H« 123 78,007
= 62,406
= 15,601
J|Z=FECYIAY 125,945 121,473 4,472
T 8,150
= 117,795
307 2I2+0l™ 125,945 121,473 4,472
= 8,150
= 117,79
11 Al SXAMEE X 125,945 121,473 4,472
OJ=FES WAL (ZHIFIF 11,000% &)
37,600,000 10 2~ 37,600
& 6,650
= 30,950
OZC0REIAN (2HIFDF 82,345 &)
88,345,000 *1JH 2 88,345
T 1,500
= 86,845
HASF0 IDALEEE XA 147,600 147,600 0
301 LPENZ 147,600 147,600
2 A BEHHZ(HAHS, NYTHA) 147,600 147,600
ORASTO 20ALBHE X
10,2503 *1,2008 = 12& 147,600
=g JI=ME8E dA=x 33,120 25,200 7,920




SA: ABIZXID
33 M55 sADIE =4
chelr VD Z=MEEH HEZo U 2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 16,560
s 16,560
301 EtE NS 33,120 25,200 7,920
= 16,560
= 16,560
02 ARSI X LGS (FHAAHS, NSWE) 33,120 25,200 7,920
O&SE JI=dE828 4H30
460,000 60t 7+ 122 33,120
=S 16,560
s 16,560
HASN 6,390,913 6,812,280 A421,367
= 5,352,731
= 669,001
o 369,091
301 EetE NS 6,390,913 6,812,280 N421,367
= 5,362,731
= 669,001
Ea 369,091
01 Al EE A S (2 REXMA) 6,390,913 6,812,280 A421,367
OdA=SN 507,215.32%1,050 0+ 12 6,390,913
= 5,362,731
= 669,001
= 369,091
ME=g= 16,131 16,904 227
308 AXIHSO0IA 16,131 16,904 227
08 WEII20UStEx 16,131 15,904 227
Ou=ssH 56,7993 »284H 16,131
SHAE SO 35,224 36,598 A1,374
= 28,180
= 3,522
o 3,522
301 EetE2 N = 35,224 36,598 A1,374
= 28,180
= 3,522
o 3,522
01 Al EE A S (2 DEXR) 35,224 36,598 A1,374
O FpSPNII=10 704,480 x50 35,224
= 28,180
= 3,522
= 3,522
W =g =54 XA 2,730 4,680 1,950
202 04t 2,730 4,680 1,950
01 =LHNHI 2,730 4,680 1,950




SA: ABIZXID
33 M55 sADIE =4
chelr VD Z=MEEH HEZo U 2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OMEBDE ADFA(Z%)
2,730,000& 2,730
ANZ2T SEAE2e X 14,760 12,600 2,160
[ 6,300
o 8,460
201 et 3| 600 600 0
[ 300
o 300
01 At22t2lt] 600 600 0
OAtell2tel g 29 10,0002 ~60& 600
= 300
s 300
202 04l 2,160 2,160
01 =LHA LI 2,160 2,160
OAldg R =8
20,0002 *4. 5L x2&H* 12 2,160
301 EtE NS 12,000 12,000 0
[ 6,000
[Ea 6,000
01 AR 2EHSHS(RNEXRTHE) 12,000 12,000 0
OAtell2telti &t R X2
500,000& x24 0t 12,000
= 6,000
= 6,000
SE At 2t2lA 1248 X 108,585 107,301 1,284
[ 35,772
o 72,813
101 21AH| 96,885 93,549 3,336
[ 35,772
o 61,113
03 SRA(FIH )22 U2+ 96,885 93,549 3,336
O8 YA 185 =(2HIFIH 13,7568 &) 50,458
—JlZ2= 2,856, 130& «1H+ 122 34,274
= 17,137
2 17,137
—HoUZal| 40,0002 +124 128 1,680
—sY2R4+g 72,0822 1213l 173
R
322,560 x1H 12 3,871
= 1,214
= 2,657
—HE=JH 1,713,681 x1E 23] 3,428
—ItEsE 170,000& x 12+ 123 2,040
— ¢ x==g 14,6883 x 12 x 10 1,147




FA SIS
M HASS =XDlE 24
chelr VD Z=MEEH HEZo U 2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—3d==+¢ 1,442,0692 x1E 23] 2,885
—d2agtta
80,0008 x1&x 12 960
O8 YA 132 =(2HIFIH 11,5858 &) 46,427
—JlEs 2,716,130 x18~ 123 32,594
= 16,297
2 16,297
—HouZal| 140, 0002 » 1% 128 1,680
—BuaRsy 163,992 *124+13] 164
—AZtel2Rsy
307,485« 1H« 122 3,690
= 1,124
T 2,566
—SEFHI 1,629,6813 x 1823 3,260
—JtE=4 40,0003 ~1~122 480
— %X 109,328 x1&»10! 1,094
—3d=2= 1,372,0692 x1&+23] 2,745
—d2sgtt=s
60,0002 x 1 * 12 720
4 HSFEESS 11,700 13,752 A2,052
04 SRA(RIH)22N BEE=RES S 11,700 13,752 A2,052
OHZRE3S(2HIFIt 11,7008 &) 11,700
—AHEE = (S A, 18E53)
505,000« 1H« 122 6,060
—4HEE 2 (YA 1358)
470,000 «1H* 122 5,640
SHS XEE SEAHIA XEH 108,510 110,670 A2,160
[ 75,960
o 32,550
201 fer= 3| 11,000 11,000 0
[ 7,700
o 3,300
01 At22t2l] 11,000 11,000 0
OSH UEE STAHIA(AR22/H) X
1,000,000« 110HSH 11,000
s 7,700
= 3,300
301 LEtE N = 97,510 97,510 0
[ 68,260
o 29,250
01 Al EE A S (FRNEXA) 97,510 97,510 0
OSH SUEE SSAHIA(AtIZEIAIY)X]
& 97,510,000 * 14! 97,510
[ 68,260




S A=
M HASE =Xl x4 o
ol 20D |ZMEBRE NSO Y 2 GRS
SEE =2t
SA - Y- GRA(B) - HRAY - BES ol k4 Sisron HIRS
| = 29,250
0
NEV RIS 3,000 3,000
= 900
= 2,100
307 eI2t0| & 3,000 3,000 0
= 900
2 2,100
R EEEEETIEES 3,000 3,000 0
NS XEHEl WRE| Xl
o ) 3,000,000 x1H 4 3,000
= 900
2 2,100
NEHBNAZ NZel A 8,101 0 8,101
2 6,481
= 648
2 972
301 LerEE3 8,101 0 8,101
2 6,481
= 648
2 972
01 MBI A4 3(DEEM) 8,101 0 8,101
TEHE NAS N2 ALY
. 675,083 %1224 8,101
2 6,481
= 648
2 972
d=g 2221 2,940 0 2,940
= 882
2 2,058
301 YerE3 2,940 0 2,940
= 882
2 2,058
R AIS 2R ESHS(HAHS, NLTR) 2,940 0 2,940
d=g 2320 X
O 37,5002 8 2,940
= 832
2 2,058
ARl ELHH N 66,319 63,772 2,547
= 31,122
= 6,225
2 28,972
Al 22l ESRIH HE (22201 22IAD 66,319 63,772 2,547
= 31,122
= 6,225




SA: ABIZXID
33 M55 sADIE =4
Rl Aldi2tel XA O (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 28,972
101 @1A4H| 66,319 63,772 2,547
[ 31,122
= 6,225
= 28,972
03 SRH(RINHA) 222+ 66,319 63,772 2,547
O22sH2elAt 12 66,319
—oS S ZEIAL Q14H] F &
3,241,916« 1E« 122 38,903
[ 31,122
< 6,225
2 1,556
—o|2Z0IB2IA QI21H| RHIRES
2,284,606« 1H 122 27,416
AHE &2 &2 2o N 12,241,151 11,569,824 671,327
= 5,102,490
= 584,258
=S 1,418,465
s 5,135,938
ol SXNSH 10,471,800 9,951,384 520,416
= 5,002,490
= 1,302,888
o 4,076,422
gofelis =0 K= 1,457,548 1,498,611 241,083
= 1,020,284
= 131,179
= 306,085
301 EtE N = 1,457,548 1,498,611 241,063
= 1,020,284
< 131,179
s 306,085
01 A2 HSHS(RNEERTHE) 1,457,548 1,498,611 241,063
Oduelgs 80 N2
319,637.7&+380H 122 1,457,548
= 1,020,284
[ 131,179
T 306,085
FU=00I1x) = 222,624 259,827 A37,203
= 155,837
< 26,715
T 40,072
301 LEIE NS 222,624 259,827 A37,203
= 155,837
s 26,715




SA: ASI=XID
33 AAE o2 2 gy X
chel: Fofel =XEA (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o 40,072
01 Al EE A S (2 RDEEMA) 222,624 259,827 A37,203
OB+ Z) X2
60,038.82x300F x 122 222,624
= 185,837
= 26,715
o 40,072
Z=E (X 8) K= 134,224 138,794 A4,570
= 93,957
= 16,107
Ea 24,160
301 LEetE N = 134,224 138,794 N\4,570
= 93,957
= 16,107
= 24,160
01 Al EEABZ2(2DEEMR) 134,224 138,794 A4,570
OZM=< (42 S) X2
69,045. 22 x162H 123 134,224
= 93,957
== 16,107
= 24,160
o LT 2 X2 (L LRtel) 390,962 384,450 6,512
= 195,481
& 78,192
= 117,289
101 @124H| 389,962 383,450 6,512
= 194,981
< 77,992
[Ea 116,989
M ORNZZ2NSE S 389,962 383,450 6.512
OZoH L Rie| X (LereEdLT)
2,499, 7% x 138« 12 389,962
= 194,981
== 77,992
o 116,989
201 er23 | 1,000 1,000 0
= 500
== 200
o 300
01 At22t2l] 1,000 1,000 0
OZoHILRte| XA (Lered ML)
1,000,000 14| 1,000
= 500
s 200




2A:
T ZH -
o e

=aak

Ar2l = X 2t

SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
| = 300
ZOHQI LRt I XI& (AR Rt2]) 180,446 177,440 3,006
= 90,223
= 36,089
Ea 54,134
101 @1A4H| 179,446 176,440 3,006
= 89,723
= 35,889
= 53,834
04 JIZtNZ2 2N sSE+ 179,446 176,440 3,006
OFOHeIXtel XIJ (LB AIZEM)
1,246, 15223« 128+ 123 179,446
= 89,723
= 35,889
= 53,834
201 er23y| 1,000 1,000 0
= 500
= 200
= 300
01 At2teltl 1,000 1,000 0
OFOHeIdXtel X (L AIZEM)
1,000,000 %14 1,000
= 500
& 200
= 300
Zoeld Kl XI& (SXILXiel) 217,758 179,630 38,128
= 108,879
< 43,551
s 65,328
307 212t01™ 217,758 179,630 38,128
= 108,879
== 43,551
[Ea 65,328
11 AR ZXAIE 2= 217,758 179,630 38,128
OFoHLXtel XA (SXLXtel)
585,370 +x31E12& 217,758
= 108,879
== 43,551
o 65,328
Zoje! BsX=20 A 2,336,863 2,266,071 70,792
= 1,635,804
S 210,317
o 490,742
307 212t01 & 2,336,863 2,266,071 70,792




FA ASIS 1
B A0S 40 H A N
chel: Fofel =XEA (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,635,804
=S 210,317
s 490,742
05 git?(& = 2,336,863 2,266,071 70,792
ool
2,007,614.22 97 S« 120 & 2,336,863
= 1,635,804
S 210,317
o 490,742
il 2SXESH KNHA(<Hl, =2HI) 94,088 94,088 0
< 28,226
T 65,862
307 glztol & 94,088 94,088 0
= 28,226
= 65,862
05 21t =S 94,088 94,088 0
oelgsiaE & FIHIA
1,306, 777261200 & 94,088
= 28,226
o 65,862
Zoje! 2sXAS0 XA (OHE0) 20,897 28,642 AT,745
= 14,627
= 1,881
o 4,389
307 @I2t01 & 20,897 28,642 AT,745
= 14,627
= 1,881
o 4,389
05 212t =S 20,897 28,642 NT,745
OFHUESKIR (Ota=N)
870,708 x2&* 1204 & 20,897
= 14,627
= 1,881
= 4,389
ol 2SN ?d =24 2,240 2,240 0
201 er2 3| 2,240 2,240
01 Al 22| 2,240 2,240
OSSN SIR3 HALe
70,0002 28 x 163 2,240
LETHEMHIA HIRH X~ 95,856 95,856 0
= 67,099
=S 9,586
s 19,171
307 21201 & 95,856 95,85 0




FA ASIS 1
M AAANE 42 2 gd XNE
eelr Zoiel SXsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 67,099
=S 9,586
s 19,171
05 git?(& = 95,856 95,85 0
OggMaAMHIA
210,210 +38H 1200 2 95,856
= 67,099
= 9,586
o 19,171
ZOHQIEHA & ZOHO! 2ted AL X2 190,406 208,809 18,403
201 =3 1,838 1,622 216
01 AtR2t2lt] 1,838 1,622 216
OZofelzl2 X2l 1,838
—53J| atE el
139,000& * 12 1,668
—220] BIYAF a4E
170,0002 %12 170
202 04| 6,240 6,240
01 =LHOLI 6.240 6.240
OToH 2 LRFX(SH)
130,000& x4« 123 6,240
307 elzto| & 182,328 200,947 218,619
03 2N EE=2SHIE X 74,795 95,291 N20,49%6
OSC=cidoiergal N 37,704
—ECdEMIE N2
2,911,000~ 128 34,932
—Zojelz2 SS3HI
2,772,000& *14] 2,772
OXNAM IS XA
2,738,916« 123 32,867
OAIZE I E 2l X2
180,000& «12& 2,160
OsoteIgalX& 172,000« 12& 2,064
11 AMEISXAEEES 107,533 106,656 1,877
O2Y==0u= 250,000& * 122 3,000
Os0tel &2l =
2,000,000& %12 2,000
Ogsd & M=X4 =0t X=Xl &
It 1,500,0002 %12 1,500
SOt X923 ee
1,350,000 %13 1,350
SO0rel eIADRA 2,000,000 *12 2,000
OAIZE IS 2dlus S
267,500 +82] 2,140
OAIZH 0! B2 23t A
3,150,000& %12 3,150




2A:

T AQNE MOl B B4 X
=2 Hofel =Xsd (SH &)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
OAIZEeIEal E0lat Alata L 3tet
store 1,180,000& %12 1,180
OAIZZ Rl 23t (ZE=H)
2,000,000& %12 2,000
OBEcHEQI S HoHelt SH2Ma uF
CHal 8,050,000& * 13! 8,050
OB=cHEEal A5t e 8tite
4,456,000 «12] 4,456
OZ=cHEUMES SHER g5ZEN
3,000,000& %12 3,000
OXIHIZ0HR! StHl==& CHE]
2,600,000 %12 2,600
OXHEORe! 2E=2
2,170,000& %12 2,170
Ol J18a K&
20,000,000& *13] 20,000
OFoHe! 012171 ==cldE XA
4,078,083& 128 48,937
Zose=ERN2 249 1,248,359 1,297,359 249,000
== 245,600
[ia 1,002,759
307 212+01™ 1,248,359 1,248,359 0
= 245,600
[ia 1,002,759
05 git?(& = 1,248,359 1,248,359 0
OZMISE =X 2L (el24Hl)
4,026,315« 198+ 1204 & 918,000
= 183,600
T 734,400
OFISE=X2(2LH], AIH) (2HIF
It 20,359% &) 330,359,000 & * 10 A 330,359
== 62,000
= 268,359
KNS A2 HEAIE K& 539,420 539,420 0
S 104,084
[ia 435,336
201 ZeH2& ] 8,000 8,000
02 S22l 8,000 8,000
OFMASXAIE FAE==H
8,000,000 * 14 8,000
307 212t01™ 531,420 531,420 0
== 104,084
= 427,336
10 MEISXAIEHE2EHIE2X 531,420 531,420 0
OZ 0Kl =2AESAIE 23 (2124])
139,500,000 * 104 2~ 139,500




2A:

Ar2l = X 2t

33 AAE o2 2 gy X
2l FHofel EXsA (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 27,900
s 111,600
OFHe! FAESAIE 2E (0SS AY)
67,500,000 * 100 2 67,500
= 13,500
o 54,000
O =AESAIE 23 (22l23])
16,000,000 * 104 2 16,000
< 3,200
s 12,800
OAIZZ e & ME0ls XIJHEH 22(2
HIZ=Jt 8,000& &)
152,420,000 * 100 2 152,420
= 28,884
o 123,536
O=0ISHHEH 22 (2HIFIH3,0008 )
156,000,000 * 14 2 156,000
< 30,600
T 125,400
JHUSXAIE SA SE€+¢ 101,520 111,000 29,480
= 30,456
Ea 71,064
301 eEtE N = 101,520 111,000 A\9,480
= 30,456
o 71,064
03 A 2E A4S (XL THH) 101,520 111,000 29,480
OZOUMA=SXIAIE SAHA SExE
1,664,262 +61 101,520
[ 30,456
T 71,064
ZOHRIE AL XI2HE =2 85,000 80,908 4,092
= 19,750
[Ea 65,250
307 el2to| & 85,000 80,908 4,092
= 19,750
o 65,250
10 AlRISXAZEE 22X 85,000 80,908 4,092
OFAEIAIE XIJHEH 2L (ZHI=Ot 6
000& &) 85 ,OO0,000J*UH_/.E 85,000
[ 19,750
Ea 65,250
ZOHRIAFAIE 2 K& 1,412,921 1,466,686 N53,765
= 989,047
< 84,766
[Ea 339,108




2A:

Ar2l = X 2t

33 AAE o2 2 gy X
chel: Fofel =XEA (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 1,412,921 1,466,686 N53,765
= 989,047
== 84,766
[Ea 339,108
e NEEEEETEES 1,412,921 1,466,686 753,765
OBOE HENE 2
1,412,921,0002 10 2 1,412,921
= 989,047
== 84,766
o 339,108
ol SsMEIE 2 X 75,380 75,380 0
= 7,538
= 67,842
307 elztol & 75,380 75,380 0
= 7,538
o 67,842
10 Al SXAEEHE 22X 75,380 75,380 0
OHM==sdeIy =24
75,380,000 * 11 £ 75,380
== 7,538
o 67,842
ORI HF=AIE CCTVElEH| X 683 683 0
= 205
= 478
307 elztol & 683 683 0
= 205
[Ea 478
10 Al SAAEEHE 22X 683 683 0
OZOAHFAIE CCTVEIEH] K&
56,9103~ 12042 683
s 205
s 478
HfeIESsHHY 23 324,660 410,460 /85,800
& 64,500
= 260,160
202 04l 2,160 2,160
01 =LHA LI 2,160 2,160
O SXAE HR=H
20,0003 = 1H+0&« 123 2,160
307 @20l & 322,500 322,500 0
s 64,500
s 258,000
05 2IR”IRIE = 322,500 322,500 0




2A:

Ar2l = X 2t

H - = AbO| Xl SEAF K|S
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
CENEESAES =8 322,500,000 * 100 &~ 322,500
& 64,500
i 258,000
SENpIEmE S 1,955 1,999 A4
= 1,564
& 156
= 235
301 LPENZ 1,955 1,999 N4
= 1,564
= 156
= 235
01 MBI EEAG6Z2(2DEZTHA) 1,955 1,999 A4
OFOHRl ExD(17] We SO -
= 1,564
= 156
= 235
HOHR! THE L AISIEOAIY K& 6,891 7,363 NT2
& 1,917
i 4,974
201 L2 | 4,100 4,100 0
= 1,080
= 3,020
01 At 22|l 4,100 4,100 0
OEOHQ! QIAIHM U QIR DS
500,000& *13l 500
QTR dEEZ 30,0002 %120 3,600
& 1,080
i 2,520
307 QI2Hol ™ 2,791 3,263 NT2
= 837
= 1,954
11 AMSIEXAEEX 2,791 3,263 N4T2
OAIZE Ol XS — 2 791
= 837
o 1,954
Zofelel=zH| X 114,829 84,794 30,035
= 91,863
= 16,076
= 6,890
308 AtXIHM SO & 114,829 84,794 30,035
= 91,863
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d2d 243 & 28N 906,030 847,998 58,032
S 168,996
= 737,034
201 Ler23| 171,025 114,108 56,917
= 39,204
o 131,821
01 AtR2t2|HI 40,345 35,700 4,645
OZ2E Nsa4FEsAI| 2258 WAl
161,380 25004 2 40,345
02 s3=ghl 130,680 78,408 52,272
OZ2Y SEH0I0I0l 3ld MEZ
33,0002 #3300 2x* 123 130,680
& 39,204
= 91,476
301 EtE N = 735,005 733,890 1,115
= 129,792
[Ea 605,213
03 A2 H A0S (XIS THH) 735,005 721,440 13,565
O3=2g 28| X2 (ZHIFIt 40,5608 &)
840,000 *3387H 2 283,920




SA: AR =X

Hm: Lol =X =
el EBD|R LEME B T4 (crel @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 48,672
s 235,248
OZ2Y 2tAH| X1 (ZHIFIt 40,5608 &)
350, 00024 x3380H A 118,300
< 15,548
2 102,752
OF=2g Lyl X8
970,000& *3387H 2 327,860
< 65,572
s 262,288
OllSE d=2g =2gdl A&
985, 000257 A 4,95
Az ZANEME SSNA(ZRY Bereyl, o= 01,5 797,747 108,779
)
= 450,763
= 90,153
[Ea 360,610
301 EetE2 NS 901,526 797,747 103,779
= 450,763
= 90,153
= 360,610
01 Al EE AT Z2(2REXR) 901,526 797,747 103,779
OARL Wikt W 22| N
2,628,355 *343 2 901,526
= 450,763
= 90,153
= 360,610
248 2% 1,085,738 1,066,062 19,676
= 44,460
o 1,041,278
201 fet=3| 6,712 4,392 2,320
01 AtR2t2|HI 6.712 4,392 2,320
ooliIsd MuslE
503 «7,457E = 180K 6.712
202 04l 1,080 1,080
01 SLHoIH 1,080 1,080
OLQUESBAEIANY NTE
90,0002 x 1 * 12 1,080
301 EtE2 NS 1,026,614 1,033,590 6,976
=S 37,710
s 988,904
02 ARSI S2E A S(FIANS, XLETHE) 824,774 810,800 13,974
ONAS U024 2H)| X2
655,000 *32& 20,960
Orksd 30,0003 x120E « 12 43,200




2A:

Hm: Lol =X =
Bl 8l tSdE 2 &Y (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OkQl ol0I=dl X
10,0002 #7 , 457 H+85%* 123 760,614
03 A2 H A0S (XILTHH) 201,840 222,790 A20,950
Ostd s Xa 100,000& 24021 24,000
OHsSs8Le B2 x)| XS
180,000 *40CH 7,200
< 2,160
2 5,040
OMASTHIHCQ! AAHE (212128, 402
) 86,0002 x79Z+302 * 122 170,640
= 35,550
o 135,090
307 21201 & 27,000 27,000 0
< 6.750
[Ea 20,250
1 ABIS XA EE 27,000 27,000 0
09z ZaAY 2
4,500 «20H 128 +262 27,000
= 6,750
= 20,250
308 AHAIEMSOIE 24,332 24,332
07 HXHH 2L RES 24,332 24,332
OXFSSE RAExHl AMHESS
24,332,000& * 14! 24,332
ZH= NS(AAHEE) 30,447,553 29,247,568 1,199,985
= 28,076,637
=S 623,925
s 1,746,991
301 EetE2 NS 30,447,553 29,247,568 1,199,985
= 28,076,637
= 623,925
Ea 1,746,991
01 Al EE AT S (2 RDEEMRA) 30,447,553 29,247,568 1,199,985
(@R EuI=ONI=
295,137 .3832+8,597 &« 12& 30,447,553
= 28,076,637
= 623,925
[Ea 1,746,991
elgxte] ¥ AMEIESKIY SU(EX) 12,532,092 9,777,085 2,755,007
= 5,918,508
= 2,407,219
[Ea 4,206,365
101 @124H| 37,543 36,379 2,164
= 13,624




SA SIS
Hm: Lol =X =
ool BOIE CSME B X4 (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 5,450
s 18,469
08 SRA(RINAHL) 222+ 37,543 36,379 2,164
Oolgxte] dgel=d oIAH|(ZHI1FIH0,2%5
=E0) 37,503
—JI=22(2HIFIt 9B&H)
2,353,416.62x1H« 122 28,241
= 13,624
= 5,450
[Ea 9,167
—gAZAHI 140,000 x1&* 122 1,680
—AlRtelat
17,9002 x 1+ 1BA1 2H 122 3,222
—SEFOHI 1,412,0303 x1H 23] 2,825
— %X 11,9303 *BAI 2t 10 955
—&d2=4 237,840 x1H =23 476
—F222=+E 143, 180318 +1d 144
202 04l 1,200 1,200
01 2LHoIH 1,200 1,200
OelgXte| dgels 0|
100,000 x 12 * 122 1,200
4 HSRESS 4,200 3,600 600
= 1,411
= 564
= 2,225
04 SR (RIHA)22N BE=RES S 4,200 3,600 600
O4t2e2Rg3(2HIFIt 1,3788 &)
350,000 «1H*12& 4,200
= 1,411
S 564
= 2,225
307 el2tol & 12,489,149 9,736,906 2,752,243
= 5,903,473
& 2,401,205
= 4,184,471
03 2IIHHEHE2SHIEx 378,720 339,720 39,000
OAILIZE 24|
369,000,000 *1IH 2 369,000
= 36,900
Ea 332,100
OAILIIZE SAA S8
135,000 x6& * 122 9,720
[ 2,916
Ea 6,804
11 AMEISXAEEES 12,110,429 9,397,186 2,713,243




A ARRISXID
Hm: Lol =X =
ol 21 L=dE Bd XY EEREE)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OLolgRiel LolZAaS A (25Dt 273
LA00& &) 279,208.233*2,8908H +11& 8,900,600
= 4,313,600
& 1,725,440
= 2,861,560
OkoldXiel SSHArEE
222 500211092 x 122 291,030
- 145,515
= 58,206
i 87,309
OLolgdXiel Lol ZAIY
846,400 x269% 102 2,276,816
= 1,138,408
= 455,363
= 683,045
OLoldxie] HIXA(FALHEH)
150,000& x70H 10,500
= 5,250
= 2,100
= 3,150
OLoldxte] 8|2 Mol (22Ut 30
,083& &) 2,505,884 .93 *x21H+12& 631,483
= 300,700
= 120,280
= 210,503
LOII=RAIE KA 355,900 485,600 A129,700
307 QI2Hol ™ 169,800 169,800 0
11 Al =SXAMSEES 169,800 169,800 0
oot (L=213])
97,200,000 *1JH 2~ 97,200
Oz0= Loltig 2 (L:013])
20,300,000 *2IH 2~ 40,600
OLolnazd(2Ust)
8,000,000&*1JH 2 8,000
O nA2H(AHIE)
8,000,000 *1JH 2 8,000
OLQlwal2H (S MIHS
8,000,000& *17H 2 8,000
OLQINARH(H=SG oI nA)
8,000,000&*1JH 2 8,000
402 CI2ER=0IH 186,100 315,800 A129,700
01 QIZEXH2 A 2 2 (REAITH &) 186,100 315,800 A129,700
OZ2Y SHZHd At
2,000,000 *50JH 2~ 100,000
OZ2Y 28 oAl ot
99,4082 3380 2~ 33,600




SA SIS
Hm: Lol =X =
Bl 8l tSdE 2 &Y (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZzg Al AlE, oXf A
1,312,500%400H 2 52,500
SHEH XA 14,000 19,000 /5,000
307 gl2to| & 14,000 19,000 /5,000
02 QIZHEAAEE X 14,000 19,000 25,000
Og=5&s K& 4,000,000 * 10K 2 4,000
Od=ZosXag=2stA1 X
10,000,000 * 104 2 10,000
LRISIIAIE DEtR= & X2 4,602,793 4,622,982 220,189
= 1,193,962
o 3,408,831
LOSXAE 28 gdat X3 2,922,193 2,931,382 N9,189
= 1,193,962
o 1,728,231
301 EetE2 NS 2,413,625 2,359,625 54,000
s 1,124,059
s 1,289,566
03 A2 H AT S (XILTHH) 2,413,625 2,359,625 54,000
OMIIEIIRY|Z 2% Bo=u3
4,721,187 .53 * 160 A+ 122 906,468
< 90,647
s 815,821
OLQldaNE 28 SHRES
15,137,052 «8 A+ 122 1,453,157
= 1,017,212
o 435,945
OMIHN=QI=SXIAIE SAHA S84
135,000& 62~ 123 9.720
< 2,916
s 6,804
OeI=sX2 SAH S8+
145,000 « 12 =122 20,880
= 6,264
o 14,616
O MSAIE SAHLY SE+E
150,000 x13E «12& 23,400
& 7,020
= 16,380
307 elztol & 508,568 571,757 263,189
= 69,903
[Ea 438,665
10 AlISXAAZEHE 22X 477,452 541,169 AB3,717
OMIt=I=XAE 2E8|
195,000,000 *2IH 2 390,000
== 39,000




SA SIS
Hm: Lol =X =
el LeISXAIE JlgeE &2 X3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 361,000
Ol HOoPIcEH =4
55,020,000 * 11 £ 55,020
[ 16,506
T 38,514
OLoIsX2 LREE 2SHY 22lA
32,432,000 18 32,432
= 9,730
[Ea 22,702
1 AMISXAIEEX 31,116 30,588 528
CoISsA2 A2
31,116,000 * 11 £ 31,116
< 4,667
T 26,449
Sgel=sXEz 29 X 1,657,000 1,660,000 23,000
307 elztol & 1,657,000 1,657,000 0
05 212t =S 1,657,000 1,657,000 0
OokLoIsi2 244l N3
1,057,000,000& * 191 £ 1,057,000
Ookogadd =ddl X3
600,000,000 * 194 2 600,000
ARl N3N 2 23,600 31,600 28,000
201 er23| 23,600 31,600 28,000
01 At2tltl 6,000 10,000 /4,000
oozddieNgdH2E (ARSE7Y
) 500,000 * 122 6,000
02 s3=gHl 15,600 15,600 0
ONSL XX HHE 2 SS32= £ X
N= 1,300,000& «12& 15,600
03 A2 I 2,000 6,000 24,000
O=&HINE 2208 IME
1,000,000& 22 2,000
HH2LZHI(ALEI =X 194,520 139,878 54,642
oI 2 (A2l =X 139,960 98,584 41,376
oA (ARl S A1) 139,960 98,584 41,376
101 ©1AH| 139,960 98,584 41,376
01 2= 136,143 95,504 40,639
OAlIZtel 22+E 132,177
—62 12,844 +6E +50A1 2t 122 46,239
—7= 11,6022 «8E #50A[ 2+ 123 55,690
—8= 10,4163 x2& #50A[ 2+ 122 12,500
—9= 9,860 x3H*50AI 2+ 123 17,748
OX<IH&HI 132,177,000 3% 3,966
03 SR (RINHA) 222+ 3,817 3,080 737




S A= Dt
M Y RAZHI(AIZI=XI1L)
CHel: QI 2AHH|(ALSISXIDH) (S &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OYLBAREE Aldelaosg
21,2043« 1 +15A12++ 123 3,817
Jl228I (A3 S X1 54,560 41,294 13,266
Jl=2ZHI (A= X 54,560 41,294 13,266
201 Zet=3h] 45,520 34,814 10,706
01 AtR2t2|HI 40,520 30,314 10,206
oA 733 =& 70,0002 x5 *43] 1,400
OMRIDI2SE(EN)
198,000&x5E 123 11,880
OJIEI2ZHI(ZH) 5,400,000& 5,400
O=AHI(E%) 9,0003x20H 0« 123 19,440
OU2R=2(5N) 200,000& * 128 2,400
2 S22l 5,000 4,500 500
O3882= € HAMdsl=
5,000,000 14 5,000
202 04l 3,600 3,600
01 =LHAHI 3,600 3,600
OAIZI =X ER(SNH)
300,0003x1&+12& 3,600
203 =4l 3,840 2,880 960
04 EAE2EERFAH 3,840 2,880 960
ORAMEZE =
320,000 * 122 3,840
308 XtXIEMSO0IE 1,100 1,100
18 SIS0t 4 A AS A 1,100 1,100
OAtISIIANY 82 dEZ =
1,100,000& %12 1,100
405 AtatE = 500 500
01 MM ESFSHI 500 500
OFAJ| 7¥ 500,000 *14] 500
MHeas(Ats =Xt 343,584 356,885 213,301
HEHHXIZ (AL2| =X 2t) 343,584 356,885 A13,301
des0ll=Eg S8 dEs 343,584 366,885 113,301
701 JIEtRI HSHES 343,584 356,885 A13,301
01 JIE=I AN ES 343,584 356,885 /13,301
Od=230II==28SEIH HES
343,584,000 x12] 343,584
F=HEZMNE (MBI SXI/ =&4) 1,880,531 0 1,880,531
= 1,431,725
== 169,250
o 279,556
MEIZ={oHE 1,880,531 0 1,880,531
= 1,431,725
= 169,250
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X XH -
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Ar2l = X 2t
FHEZEME (AMEI S/ =)

ol MElE=HeHE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 279,5%
FHSN 1,573,500 1,573,500
= 1,292,000
= 161,500
= 120,000
301 EtE N = 973,500 973,500
= 812,000
< 101,500
s 60,000
01 AR 2EHSFS(RNEERTHE) 973,500 973,500
OAXZ0]
150,231. 42120 25400t 973,500
= 812,000
< 101,500
= 60,000
403 MR SHHMSAH=01H 600,000 600,000
= 480,000
[ 60,000
T 60,000
02 SIS0t =S A A 600,000 600,000
Ox=dRAS0 10,000, 000& <60+ 600,000
= 480,000
== 60,000
o 60,000
NASHE == 2+ 202,031 202,031
= 114,825
= 87,206
307 elztol & 202,031 202,031
= 114,825
Ea 87,206
02 2B YA R E £ 46,031 46,031
OSEHAHE FHNS Mg
6,575,857 & *7 It 46,031
= 36,825
s 9,206
05 2ItRIE = 156,000 156,000
ONASE Jpl 21922 XA
6,000,000& +267++* 156,000
= 78,000
o 78,000
ZOHOI =8 JHA ALY 38,000 38,000
= 19,000
= 5,700
= 13,300
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2A:

Ar2l = X 2t

M FHEZMA(AISISXI/ =€)
Sl MIFHOHE (e A
(=] X ZH Ctel (3 (=] MK OH E‘“.—jE =2}

A H

1,650
3,850




